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#krpxd~L~U  (54+49)/2  = 51.50 r&Wl~&~ah.~  a W%  b %J&%%?

a a b a b a b a b b a b a b b d a a b b b b a b a a

n=26  n,=13 n2=  13 R= 17

E(R) = 26/2  + 1 = 14

V(R) = 26(26-2)/4(26-l) = 6.24

V(R) = (1/90)(16n-29)

--f-+-+--+-+--+++-+--+-+-

=14  np=ll  bl%R=19

E(R) = (1/3){2(26)-1)  = 17

V(R) = (1/90){16(26)-29)  = 4.3

z = 19-  17- = 1.4
hii-





I X R I X, R. I X R/
5 o.k7 l-1  12 1.18 5 1 9 2.;2  ;

6 0.67 10 13 1.15 6 2 0 1.03 7

7 -0.78 18 14 0.10 13

rs = 1 - 6Zdi*/(n3-n)

= 1 - 6(2318)/(203-20) - -0.7429

Sutdodi=i-R,;i=1,2,...20

w”aa~~w~aoPJ~%~~“wna~~~~~l~~~~~  r,  %%I

r
T=

d(l -r$&n-2)

LX%%lb~Pb T  =  -0.7429n/(l-(-0.7429)‘)/(20-2)

= -4 .208

bk=W$l  T ~~Fkh%-@eil&¶  ~~flsnce”swa”o~a~‘parpja~uuuu~~
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THE LEAST INITIAL DEVIATION FROM

THE TRUTH IS MULTIPLIED LATER A

THOUSANDFOLD.

ARISTOTLE
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